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WARM UP GRADE 8 4
5‘,’” Tharoday, Sept. 25 F\/
‘\1 Section 2.5 Order of Operations with Integers _!‘l
a continued
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WARM UP GRADE 8
Do we need another

Section 2.5 Order of Operations with Integers

Answer the following on loose leaf and pass it in. (No Calculators)

1)(21 =Y3 2 8)="Q 3)(+3)x (+5) =T IS 4) (+42)+(-2) == A
S) (-6) x (+4) —_w 6) ) =)b 7) (-21)+ ( ) -288) (+15) + (-10) = +§
9) (+3) + (-20) _ﬂm (12) 1) ==1] 11) (+16) ; (-5) = #21 12) (+5) ; (f0)=3:25
d
(-l?)-u- @-l) 1-("’5) "'@’?-O)

Show work

13) (-12) + (+17) - (:2) 14) (+16) - (-7) - (+2)

e\~
= +5 (2
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Class/ Hgmael ork

needed
#12

#13

#15 —find the Mean : (Add up all Numbers and
then divide the sum by the total number
of numbers)

Page 92 - 93

#17

Test Next Week



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

